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Increase in temperature with increase
in haight is known as

{A} Laps rate

(B) Adiabalic lapse rate

(G} Inversjon of temperaiure
(D) Nermal Rata

Defiacted ot winds by the rotation of
aarth is known as

(A) Motion Effect
(B) Coriolis Effect
(C) Accidental Effect
(D) Uniorced wind

it the variability of rainfall is 1o be
measured, which of the following
techniques will be used 7

{A) Mean daviation

{B) Standard Deviation
{C) Cosfficient of Varlation
(D) nterguartile Range

Which one of the
‘greenhouse gases |
with global warming
(A) Water vapour
(B) Carbon dicxide
(C) Methane

(D) Hydrogen

In the process of érosion, the removal
of material by solution is called

(A)  Attrition (B) Ejection
(C) Corrosion (D} Sapping

One of the proponents of the turbidity
current theory of the orlgin of
submarine canyons was

(A) Daly (B) Daniel
(C) Salis (D) Gearge

7. The percentage of water vapour in the
air in the tropical regions may be a
high as
{A) 4 percent
(C) 20 percent

(B) 9 percent
(D) 30 perce:

8. Thamost common saltin the ocean i
(A) Calcium chioride
(B) Sodium nitrate
(C) Sodium chioride
(DY Calecium nilrate

9. Which one of the following indicata
'Random’ distribution of sattiements

(A) 0.48 {B) 1.00
(C) 159 (D) 2.15

10, m_imln;gm tha following is relats
i TaivaiEeonomy ?
{A) hgmymvaﬁun

(B) Foatloose Industry
(C) Mining and n?rgmg

a (D) | Shifting culfivation
A penneplain 8 the

the classical geomorphic cycle 4
erasion,

(A) End product

{(B). Mature product

{C) Beginning product

(D) Youthful product

12. Which of the following is not
component of the siream load 7

(A) Unsuspended load
(B) Suspended load <
(C) Dissolved load

(D) Alluvial lpad
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13.

14,

16,

17.

Which among the lellowing is nearest
te tha Tropic of Cancer 7

(&) Aizawl (B) Rajkot

(C) Kolkata s (0} Imphal

Which of tha following statements are
correct 7
i. Sediments of Gondwana System
weare deposited under marng
condition.
ii. Rocks of Gondwana System are
fossliferous
. Rocks of Gondwana System contain
matallic mineral deposits
Gondwana deposition took place in
downfaulted trough,
i, digoiid (B} i i, iv
il iv () i, i

(A)
(C)

Which of the following is the carmect
chranological order of the formation
of the following Siates in India 7

I, Sikkim
i, Mizoram GFI | I
i, Goa - N

iv. Arunachal Pradash

(A) (B) L i, 1, v

{C) (DY &, bw, 0, i

Which ona of the following longitudes
datermines the Indian standard time 7

(A] BSSE (B) B6.5E
(C) BASE (D) B2.5E

iif, i 1, v
[, i, v, fii

Which one of the foliowing regions
practising most intensive subsistence
{arming 7

(A) Pampas region

(B} Murray-Darfing Basin
(C} California Valley

{0 Mansoon Asia

|
[ ¢

000 00 00O

18.

13

What is the corract order of
occurrence of the following places as
ong move from eas! lo west ?

i. Murshidabad

il. Gorakhpur

ii. Bhopal

w. Bhavnagar

(AY 0, Iv, I, (B) |, iil, v, it
{Cy |, i, T, v (DY b, B
Which onea of the lollowing
statemenis s true aboul the
manufactunng industies 7 Manufactunng

industries can only help in agneulture
modernization  Manufacturing
industries creale unemploymen
Manufacturing industries provide
amployment not only for agnculiure
bt fopsecontian’and lerhary sactorg
also Manutactunng industries reduce
our dependency on agriculture
i Manufacturing indusfiias prov
_empioyment not only
& ,_:i;?agrlﬂultura. but for sacondary &
lertiary sectors.
Manufacturing Industnes red
our dependency on agnculture
Manufacturing industries can g
help in agricullure modernizat
Manutacturing industries cre
unemployment.

(B}
(C)
()

Which of the following is an examp
of carbon-dioxide sequestiration ?
(A) smoke-stack emissions
{B) the injection of carbon dipxide
subsurface geclogic reservoin
the reversal of global warming
scrubbing carbon dioxide o
power-plant emissions

(C)
(0)
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21.

22

23

24,

28,

The carbon-dioxide content in 1he
Earth's atmosphere before 1500 A.D.
was between 200 and 300 ppm. The
carbon dioxide contant today is about
450 ppm. Which single historical
uEwa!npmﬂ-nr-nan be blamed for this
increasa?

(A} the invention of agriculture
(B) the industrial revolution
(C} sphtting of molecules

(D) splitting of the atam

An apparent force caused by the
earth's rotation Is called

(A) coriotis force
(B) centrifugal force
(Cy ecentripetal lorce
(D) jetstream

Which ang of the tollowing mountain
ranges does not emerge from the

Pamir Knot 7
2
(D

(A) Hindukush
(C)  Kunlun

The Intar-Tropical Convargence Zone
during the South Waest Monsoon
Season in India Swifts

(A) Westward (B) Morthward
(C) Eastward (D) Southward

Which one of the following s most
suilable diagram for reprasenting the
age-sex structure of the population 7

(A) Dot method
(B) Trangular graph
(C) Pie diagram
{D) Pyramid diagram

26.

27.

29,

The informal sector of econam
refers to

(A} Capitalist mode of economy
(B} Bazaar type of economy |
{C) Dynamic and stable income

(D) Permanent and product
establishment

The law of primacy in the conte
of urban development is mo
relevant to the countries which ha

(A) Relatively simple economy
spatial structura

(B) Compléx economy
(C) Integrated spatial siruciure
(D) Matured economy

The ceniral banking functions in In
are parforned by the
L. Centrai Bank of India
Il. Rezserve Bank of indig
Il. State Bank.alindid &
Pumab National Bank

Ay LN B) I

() (o) 0,
Decimal coinage was. introduced
India in the year

(A) 1857 (B} 1958
(C) 1961 (D) 1965
Mational Income estimates in Ind
is prepared by

(A) C.5.0.

(B) Pianning Commissign
(C) Finance Ministry

(D) RBI
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31.

32.

33.

What were the harmiul effects of the
strategy of the Green Revoluticn 7
|. Degradation of the sail
Il. Lowering offie water tables
. Loss of Biodiversity
IV, Impovershment of the small
farmers
(A} Liland !V only (B) Illonly
{C) Lilandllionly (D} All

Consider the following statements

aboul agricullural development in

india |dantify the right ones.

I indian agneullure economy was
largely subsistence in nature before
independence.

.t hao a dismal perdformance i tha
first hali of twentiath century.

(A} | only {B) N nnI! I

(C) Boih (D)

Imitiatives taken by the Govermnment

of India with regard to tolal sanitation

campaign

i. Implementation of Nirmal Bharat
Abhiyan scheme.

. Encouragement of the use of
bio-toilet facility developed by
CROO on bio-digester lechnology.

ili. Making toilet construction mandatory

lor evary household.
(A |, liand i (B) |and i only
(C) fandiionly (D) ionly

120 00 TR O

34.

36

37

38,

5 the second largest
brackish—water lake or lagoon in
India.

(A)  Muthupet

(B) Cherai beach lagoon
(C) Sri Harikola

{0} Pulicat Lake

Which of the following statements
explains tha rain-shadow effect 7

(A) Mountains force air lo nse;
cools and releases maoisture
risas

(B) The atmosphera gels denser

elevalion increases, causing snt

1o fall

Tampearatures are highar on '

side of a mountain than on

R TSR HERES

(@) \Wind,patierns cause precipia

(C)

Earth's three major -' te zones
palar, tropical, and.riin forest

ndra, temperate, and tropi
tropleal, lemperale, and polar

(D) polar, savanna, and rain for

Whal is an area in which iwoor
air masses meet ¢

(A) front
(G) air mass

(B) tomado
(D} stormsu

What is the almosphere zona call
that is characterized by gases nol
mixed, which are layered
accordance with their molecul
masses 7 *

(A) Troposphere (B) Homos
(C)

Ozonesphera (D) Helr
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39,

40.

41.

42

A deep layer of electrically charged
moleculas and atoms that reflects
radio waved s

(A) Hetrosphere (B) Radiosphere
(C) Tharmnspha;ra (D) ' lonosphere

Air density at standard conditions is
aboul

(A) 1.885kg/m?
(B) 2.55kg/m?
(C) 1.226 kgim?
(D) 3.267 kg/m’

Wind energy conversion devices
based on drag lorce

(A) Move faster than wind
(B) Move slower than wind
(C) Move with equal velocity as wind

(D} Do not depend on the velocity of
wind ¢

Solar radiation that has not bheen
ahsorbed or scattered and machos
thie @arth surface directly s called

(A} Beam radiation

(B) Scattered radiation (D) changes temperatuigwith a
(C) * Dittusad radiation f;uism’ the dry ogimois! adsaf
(D) Radiation

and stratus clouds are

Which ol these circulation systems
has a sinking limb around 30° north
and south 7

(A) Femel cell

(B} Hadiey cell

(C) Walker circulation
() Polar cell

Due to filt of the Earth's axis which of
the following lines of latitude receives
the highest amount of direct overhead
radiation all year round 7

(A) Tropic of Capricom
(B) Equator

(C) Tropic of cancer
(D) Arctic circle

0O 00 S 0 O

45. Which of the following surfaces has
the lowest albedo (reflects the leasl
shorl wave radiation) ?

(&) Conilerous forast
(B) Fresh, dry snow
(C) Meadows

(D) DrySteppe

468. What is the kinematic viscosity of
liquid thal has a density of 1.2 g o
and a dynamic viscosity of 2 cP 7
(A} 06mig
B8y 1.67mes
(Cy DBEx10Emis
0y 18710~ 5még”!

47, Which of the fallowing is true abol
parcel of air, but not true abo

the environment 7

(A) temperature values
arratically from one level 1o ihel

] (B) consists of different air mokeg
at cach 'evel

(€} hinmidiy Values differ erral
from one leveal to the next

common duning which of the fol
times of day.

(A) late evening

(B) lateaftemoon
(C) early maming
(D) early afternoon

49. The extrapofation method
predicting the path of a trop
cyclone works best when

(A} the storms pas! track is cu
(B) 1he storms past track is line
(C) the storms past trackds re-C
(D) the storms past track has @

and then re-curved
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50. The cause of the greatest number of
hurricane casualties is
i (A) storm surges
: (B) torrential rains
(C) tomacdos mwnﬁd from the storm
(D) lighining strikes

51 s0il is known by differani
names: Reh, kaliar, USAR, eto.

. (A) Black (B) Alluvial
(C) Hed (D) Grey
52, __soil are mainly formed

dua to the decomposition of anciant
crystalline rocks like granites and
gneisses and from rock typas rich in
minerals such as iron and

MaEgnesium.
{A) Black (B) Alluvial
(C) Red (D) Grey

< T _Is best for tea, coffee,

rubber, cinchona, coconutl and
suitable for fice and millel cultivation
if manured and Is found in pars of
Wastarn Ghats, Eastern Ghais,
Rajmahal hillg, Maharashira,
Karpataka, Kerala, Orissa, Wesl
Bengal, Assam, Tamil Nadu, eic,

IIA} Laterite (B) Red
{G} Black (B Alluwi
54. The molien mass of earth is called
{A) Magnous (B) Magna
(C} Hotcake (D) Magmus

55, Geothermal energy reservoirs are
{A) Liguid dominated reservoirs
(B) Steam dominated reservoirs
{C) Hot rocks with no wailer
(D)  All of the above

56. Which oul of the lollowing minerals
Is formed by the decomposition of

surface rocks, and leaves a residual
mass of weathered material 7

(A) Gold (B) Bauxite
{C) Zinc (D) Coal

57. Which out of the following minerals

58. The Koderma-Gaya-Hazarbagh ball

OCours in the sands of valley floors
and the base of hilis 7

(A} Goid (B} Copper
(C) Sulphur (D) Marbie

of Jharkhand is a leading producerof

(A) copper
(C) iron ore

59. The imaginary line of the earth's
surface that closely follows th
180 degree Mendian 8 7
{A) Tropic of cancar
iB] International date line
{C) Equator
(0} PFrima Mendian

g0, Lackof atmoenhare around tha moon
B8 duslo
(A} Low gravitational attraction

{ Low escape vuluq&tﬁ.n{
cule and low gravitat]
tiar

escape wveloeily of
molecule only
(0} High escape velocity of
maolecule and low gravitat
attracthian
61. Which among the loliowing duties i
applied by a govemnment 1o control
exports of a commodity, so that
commedity can be used by the
markets than in forelgn countnas 7
(A} Custom duty
{(B) Excise duty
(G} Anti-dumping duly
(D) Dumping duty
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2. The term ‘round-tripping’ often
appears in financial news these days.
What does it mean ?

(A) Imporling products that are nol
easily availagle in the domestic
markets

(B} Indian companies re-exporting
imported products withoul any
value addition

(C) Bringing back ilicit money hidden
abroad by Indians under a differant
name

(D) Imposing high customs duty 1o
discourage dumping of goods in
Indian market

83. Suppose that a Brazilian firm imporis
Japanese microchips. The transachon

will appaar
(A) On neithar country’'s balance ol
paymeant accounts -

(B} Asa debiton the Brazilian balance

of payments
(C) As a debit on the J
balance of payments

(0} As a credil on the Brazillan
balance of payments

84. Which of the following stalements |s
true of a histogram 7

(A} The narrower the class interval,
the batter the depiction of the
distribution

{B) The raw dala can be recovered

()} The raw dala can be partially
recovered, at least 1o the nearest
whaole numbered

{D) The raw data cannot be recoverad

T 00

685. An arror bar is a vertlcal line through
an element on a graph
{A) Indicating, In the units of In

vertical scale
(B} Indicating the magnitude of th
mearn
(C) Indicating the frequency &
observations falling within a clas
mterval
(D) Indicating the magnitude of t
media

66. The measuras al dispersion can

never be
(A) Positive (B) Zero
(C) MNegative (D) Equal o

67. It all the scores on examinalion
cluster around the mean, thaj
dispersion is said 10 be
(A) Small (8) Large
{C) Normal (D) Symmetrig

68, G.M id dafined only when
) All observations 'hﬂw A

ign and non is zerno® -
observations have the diffors

nandnon s rerg

(C) All observations have the saf

sign and one is zero

(D) Al chservations have the differd

sign and one is 7ero

69. The endogenic and exogenic forces
causing physical stresses and
chemical actions on earth material§
and bringing about changas in
configuration of the surface of
earth are known as
(A) Geomorphic Process
(B) Geothermic process «
(C) Gradation Process
(D) Deastrophism Process
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70. Lines on the seafloor that connect
rocks of the same age are called

(A} |sograds (B) Isotopes

(C) Isochrons (D) Isosiasy
71. Approximately how many lithospharic

plates ara thare? "

(A} About3 (B) Aboul &

{C) About 12 (D) Aboul 24
72. Whichof the following rock types would

' you least expect to find in fayer 17
(A) Cher (B} Limestona
{C) Sandstone (D) Shale

73. Which of the following is an important
source of dust ?

(A) volcanic dust from eruptions
(B) clay minerals from soils

(C) organic sources, including
charcoal, polien and baclena
(D) All the above
74. Sand galtating in air can jumg

higher than sand grains mailaﬂnu in
waler because
(A} waler is iess danse than alr
(B) alr Is less visgous than w
(C) wind velocity Is faster th
velocity
(D} grains aresuspended in airlonger
than thay are in watar

75. Which of the following statements

relating 1o earthquakes is/are comact 7

I, The point of ongin of an earthgquaks
is called the epicenter.

il. The fines joining the places which
ware affecled by earthquake at tha
same poinl of time are called
homosalsmal lines.

Select the correct answer using the
code givan below,

(A} 1 only
(C) Bothiand i

(B} ii only
(D) Neither i nor i

A OO0 0

i6.

79,

Which of the following is /are the
stage(s) of demographic transition 7
i. High death rale and birth rate, |
growth rate
i. Rapid decline In death rat
continued low birth rate, very
growth rale
iii. Rapid decline in birth rate, conti
decline in death rate
iv. Low death rate and birth rate, |
growth rate

Select the cormact answer using the
code given balow.
{A) | only (B} 1, i and i
(G} il and v (D) iand v

Population dividend refars 1o
(A} total number of population
(B) youthful age structure of
popultation
(G} relatively high proportion
experanced aged people
DY, migration from fichar region
pecrar tegharn

Q : Igneous rocks are also known as
fimary rocks.

igneous rock Inr:‘q{ Bue to
tion of magma

thQ and A are true and R
rect explanation of Q

(B) Both @ and R are true and B
not the reason of Q

(C) Qistrue but A s false
(D) Qisfalse, but R is true

Which of the following statements |8
corract for the thirg stage of the
demographic transition model 7
(A) Birth rate high, death rate fall
total population increasing
(B) Birth rale low, death rate low,
population high and constant
{C) Birth rate falling, death rate h
lotal population increasing
(D} Birth rate falling, death rate fa
total population increasing
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80.

81.

a3,

When a population pyramid has a
wide base it does not tend to have

{(A) High birth rate

(B) High death rale

(C) A low life expectancy
(D) An ageing pepulation

The Essay on the Principle of
Population was written by

(A) The World Bank

(B) Thomas Rober Malthus
{C) Julian Simon

(D) Abraham Lincoln

The development of high-yieiding
variaties {(HYVs) of wheat and rice is
known as

(A} Ihe agribusiness revolution
(B} farming system theory

(C) theGreen Revolution

(D) agr-R&D

Malthus's theory was thal populaton

(&) Increased proportionally to
vamnnmlngruwrh

" smEeE
food supply which g
arithmetically

(C} increased stagnantly with food
supply-and econgmic
development

(D) increased disproporitonataly,
surpassing agricultural production

Which of the following did Mahatma
Gandhi, non-violent politician and
leader of India's nationalisi
movement, not advocate?

(A} village economic development
(B) handicraft production and

labor-intensive technology
(C) centralized decision making

{0) reduction of material wants

85.

a7

20.

Two or more nuclear families of
parent(s) and children is known as

(A) dual family

(B) institutional family
(C) extended family
(D) two-ter family trea

Peasanls are

(A) rural politicians

(B} rural cultivalors

(G} rural industnalkist
(D) rural religious group

What does NPP stand for?

{A) National Population Program
(B) MNational Populafion Project
(C) National Population Policy

(D} National Population Production

The numbar of five births per thousand
persans it ayearis lemmed as

(A) Deathrate

(B) Birth rate
Growth rate
None of these

e
N

identify fluvio-glacial deposits from
the following

(A} Outwash plain
(B} Fiood plain
(C) Penna plain
(D) Pan plain

Insolation reaches the earth surl
in the form of

(A) Short waves
(B) Long waves

{C) Microwaves <
(D) Lorenz curve
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The range of visible wave length on
glectromagnetic spactrum is

(A) 0.4 to0.7 micrometras

(B) 0.7 10 15.0 micromelres

(C) 0.3100.9micrometres

(D) 0.3to15.0 micrometres

The atmosphere gets heated by
which one of the following 7

(A) Direct rays of the sun

(B} Volcanic activity

(C) Burmning of organic material
(D) Radiation from the earth

Under the scope of town planning n
India is coverad

i. Urban renewal

ii. Planning of urban amenities and
lacilities

iii. Building of new fowns

iv. Bullding of metropoiitan cffies

Codes :
{A) Jand iil ara corract
{B) only | is Correct

Wha amaong the following noted first
the regularity between the sizes of
cities and their rank 7

(A} Zipt (B) Jefferson
(C) Auerbach (D) Christaliar

96

The sparsely populated countries
have slow growth of indusiries

because

{A) of shortage of skilled labour
(B) small population does not provi
a good market

of both (A) and (B)

agricultura is more deveiopedt
Industries

g7.

(C)
(D}

The number of persons exprassead in
tarms of unit area of agricultural land

is known as

(A) Economic Density
(B) Physiological Daensity
(C) Arthmetical Density
(D) Agricutbural Density

g8,

9. Which indicator fram among th
following could be ihe bestindical

(C)

Wha has, amongst the following
geographers, defined Geography of
Public Finance 'who g;als what,
whera, and al what cost' 7

(A} R.J. Choriey
(B) David Harvey
(C) P. Claval

() R.J. Bennett

The highest salinity is found in the
(A) Baltic Sea

(8) Okhotsk Sea

(C) Mediterranean Sea

I, Wi and i are correct
(D} W, in and v are cor

igFwelbeing®
Paopulation growth rate
Literacy rate

(C) Life-expectancy

(D) Paercapita incoma

Which one ol the following stateme
is comrect in contest of Sten-de-Geer
method used for showing populati
distribution ?

100.

(A) Rural population is shown
sphere method

(B} Urban population is shown by
method

(C) Scale of Cube-roots are used
showing the spheres .

(D) Spheres occupy bigger spa

(D) PRed Sea

mag.
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101.

108,

104,

105

Which of the following giacial leatures
is believed to have formed in the bed
of a sub glacial stream 7

(A) An Esker (B) Moraine
(C) Drumiin I_I:,EI‘,I Kame

Who dafined Geography as discovery
of Predictive Pallerns during
guantitative revolution perod 7

(A] Haggett (B) Harvey
(C) Stewar (0) Bunge

Which of the following Is not a
Quantitative Distribution Map 7

(&) Choroschemalic map
(B) Isopleth Map

(C) Dot Map

(D) Choropleth Map

Salinity in water bodies increases

with

(A) /increase in evaporation and
decrease in admixture of fresh
water

(B) decrease In evaporation and
increase N admixtur
waler
(C) decrease in evaporali
change in admixture of fresh water
(D} increase in evaporation and

increase in admixture of fresh
walar

Energy that is reflected by the
aimosphere

(A) does not heat the atmosphere

{B) has a different wavelength than the
incoming energy

(G} s usually shorl energy like visible
light which does not penetrate the
atmospherne

(D) heats the atmosphere by

absorption

106. Thae term panplane refers to

(A) A level surface formed in the old
age of fluvial cycie
(B) A level surface formad by wind

arosion
(C) A plain formed by marine action
(D} A plain formed by joining of flood-

plains
107. Who among the following expounded
the concept that “the presant is the key
io the past™ ?
(A) Hutton (B) Lyell
(C} Bufton (D) Playtair
108. Which of the lollowing occupies

Trophic Lavel | in food chain 7
(A) Bacteria

{B) Camivoras

(CY Primary consumens

(D) Piants

108. gin the hydrological cycle eyagaration
1!' .I

i ded by
{Huuds
| recipitation

(C) Heat
(D) Condensation

110. The concept of the Geographical

Pivot of History was proposed by
(A) Mickinder (B} Martin
(C) Kropotkin (D7 Raizel

111, Oweriand flow is increased by
(A) Heavy lorast cover

(B) Lightestiorestcover
(C) Low intensity precipitate

(D) High intensilty precipitate
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112

113

114.

1S5,

116,

The suspended load of a stream
consists of particles that

(A) Are heid aloftin the flow of water
(B) Move by traction

(C) Move by saltatien

(D) Are dissolved in waler

The place located al the confluence
of Alakananda and Pindar rivers is

(A) Rudraprayag
(B) Karnaprayag
(C} Devaprayag
(D) Vishnuprayag

Which of the following statements
regarding landsiides is/are correct ?

|, Theyam sudden and sporadic
. They result when the slopeis genlie,

iil. Mining activity is also responsible for
landslides.

(A) | and il only (B) | and ili only

(©) i only (O) i iia

Which of the following lats 5

passes through India 7

{A) Eguator

(B) Arctic Circla

{C) Tropic of Capricom

(D) Tropic of Cancer

Indian Standard Meridian’' passas
through the states of UP, MP

(A) AP and Karnataka
(B) AP and Tamil Nadu
(C) Karnataka and Tamil Nadu

117. Consider the following statements

1. The continental shalves of
Lakshadweep are originated due 10
coral reefs

The continental shelves of westam
coast are due to faulting and
submergence. Which of the
statemeni{s) given above islarg
correct ?

(A) 1 only

(B) 2 only

(C) Both1and2

(D) Neither 1 nor 2

28.38M and 77.12E are the
respective latitude and longitude of
which one of the following places 7

(A} Jaipur (B) Dalhi
(C) Lucknow (D} Allanabad

118.

Pretuction, a™goods in large
guantities after processing from raw
aterials to more valuable p P _u_gl:ts

119,

imary activity
ry ackivity
(C) Tertiary activity
(D) Quasiactvity

The “atmospheric window" |

I allows part of Earth's back-radiati
o escape into space
s a seasonal hole where stralosp
azone is reduced 1o near 2ero
Is a gap in the atmospherc
spectrum, between the abso
dominated by water vapor a

120.

(D) Orissa and AP

carbon dioxide .
(A} |only (B} 1l only
(C) land Il (D) 1 and Il
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121,

122

123.

124,

Why does only approximately half of
the solar energy emitted towards the
Earth evar arrive al the surface?

{A) the restis lost in transit through the
vacuum of sgace

(B} the rest is lost because the speed
of the light is slower in the
atmosphers than in the vacuum

{C) the rest |s absorbed by the
atmosphere or refiectad into space

{D) the rest is refracted through the
atmosphare

Why do coastal areas experience less
conirast in temperature conditions 7

(A} Due to heat conditions
(B) Due o none of the thraa
(C)/ Duefo land mass

(D) Due to moderating effect of the
geas

Which one of the followin
acid rain 7

(A) Carbon dioxide

(8) Chlorofiuoro carbon
(C) Sulphur dioxide

(D)  Hydro carbon

it & millimeater on a map represants
5 k.m. distance on the ground, the
A.F. of the map will be

(A) 1:1,00,000
(8) 1:8,00,000
(C) 1:10, 00,000
(D) 1:20,00,000

0T O 0O

125. With biotic succession In a lake
gnvironment the population and
diversity of plants and animals
(A) Increases
(B) Decreases
(C) MNaither A norB
(D) First decreases and than

increases

126. It acircla with 1 cm radius représenis
one lac population, what will be the
radius of the circle representing 4 lac

populations 7
(A) 2cm (B) 4em
({C) Bem (D) 8Bcm

127, Which gse al the following is
nol refated with informal sector
of economy 7

Market type of ar:,'uncﬂiﬁ; .

Unskilled/semiskilled labour fo

Temporary and unstable incoma
(D) Capitalist mode of economy

128. Gilt-edged market means
{A) bull marke!
(B) market of guns
(C) market of pure metals
(D) market of govemmen! securities

128. National Sample Survey Organisation
(NSSO) was established in 7 ¢

(A) 1950 (B} 1965
(C) 1854 (D) 1961
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o1 0 o q8
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123,

124.

(C) 1:10,00,000 (D) 1:20,00,000

125,

126.

127,
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(A) A

(B) #EEH

(C) FASTAEE
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128.
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(D) q?ﬁmﬁaamw
‘ez weE A Fad B
(A) T ST

(B) Foretett @ =mam

(C) & 9]+l a=n
(D) BT e 1 T

T AT Ha T HeEA (NSSO)

T F S ol 7
(A) 1950 (B) 1965
(C) 1954 (D) 1961 |




JDD-T1/PGT- GEQ/ TIER-IFX-15

130.

j s 131,

132

| 133,

Which indian got Nobel Prize for
Economics 7

(A) Khanna

{By (C.R, Chatterji

(C) R.Mahajan +*

(D) Amarthiya Sen

Consider the following stalemants.
Identity the right ones.

| Cotton is a tropical crop grown in
kharif season in semi-arid areas of
the country.

Il. India grows both short staple cotion
as well as long staple cotton.

(B) 1lonly

(D) Nane

(A
(€]

| only
Both

What are the real problems of the
Indian agriculture 7

[, Dependence on Erratic Mansoon
il. Low productivity

lll. Constraints of financial ﬁ
and indebtednass

IV. Lack of land relorms

V. Small land size and fragmentation
of landhaldings

(A) 1IL11land IV only
(B) lland IV only
(C) 1ifand V only
(o) All

Nathpa Jhakri hydel power project is
located on _river

(A} Ganga (B) Brahmputra
(C) Satluj

(D] Yamuna

D00 A0 00 O 0

134,

135.

137.

Temperature and amount of
precipitation are used io describe

(A) latitude
(B} clouds
(C) surlace currents
(D) climate

When air is nearly saturated and
temperature drops, what is mached 7

(A)
(B}
iC)
()

dew poinl
precipitalion
condensation

humidity

Which of the following is NOT true of
an ice age 7
(&) | lga forma In high latitudes an
maoves toward lower latitudes
(B) There are periods afcald an
riods of warmth, *

are hava been few major |
ages

(D) lce sheets advance and get bigg

Why does the equalor expenence
high temperatures year round ?

(A) It has a high latitude

(B) The sun's rays hit it al a les
angle

(C) Ithas no large bodies of water

(0) The sun's rays hit it diréctly
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138,

139,

140,

1414

142

Whal part of the atmosphere shields
garth’s surface from harmiul
ultraviolet radiation 7

(A} Troposphers
(B) Tropopause ,
{C) I".I'!-ﬂ.".i-::nsnlha&nrvzmr
(D} Ozonasphere

I ferms of the controls of weathér and
climate, latitude

(A)  Prmarily afiects humidity
(B) Primarlly affects lemperature

(C) Primarily affects atmospharic
circulation

(D} Primarily affects precipitation

Tha working of a solar water heatar
is based on which of the following
technologies 7

(&) Solar photovollaic technology
(B) / Solar thermal technology
(C) Solar cell teshnalogy

(0) Solar electncly tachnology

Solar radiation that is receive
changes its diraction r.lu:a to
and scattering in the a
called

{A) Diftused radiation
(B) Scattered radiation
(C) Beam radiation
(D) Radiation

The total solar radiation received al
any point on the earth’s surface is
tarmmed as

(A)  Insulation
(B) Insolation
(C) Radiation

D) Insulated radiation

00 0 0 S A 100

143.

144

145,

Bdds

147.

Which of these is nol a major cause
of global wind circulation 7

(A} Position of the major Earth
mountain rangas

(B) Inequaliies in the distnbution of
solar radiation

(C) Carbon dioxide conceniration

(D) The Coriolis Effect

Inwhich season is the North Atlanhc
Qscillafion most avidenl 7

{A) Aulumn (B} Winter

{C) Summar (D) Spring

What effect do clouds have on the
garth with respact o short wave
radiation ?

A} Docrease shhedo

(B)  ABscirb rtra solar radiation
(C} Add tothe green effect
Refiect more solar gidktibn

of a liquid eccupies 20 cm? in
a measuring cylinder, what is the
density of the liguid 7

(A} D.25gecm™ (B) 0.8gcm™
(C) 1.25gem? (D) S5gemd

Which of the following is NOT used by
meteorologists to classify clouds 7

(A)
(B}
(C)
(2)

Hasic shape
Cloud composition
Height above the ground

Whether or not pmc‘;pttaliun
generated
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148

" 148,

150

151.

Large-scale circulation syslems,
tronts, and thunderstorms are the
primary source of which of the
following cloud types,

(A} middie and high clouds

(B) low and middle clouds

{C) low and high clouds

(D} Mone of the above

Which of the following is NOT one of

the conditions identified by

atmosphearic sciantists as baeing

required for Ilropical cyclone

development 7

(A) a pre-existing, large-scale flow
pattem

(B) moisl, unstable air

A
(D)

aguatorial localicn
warm ocean surface wale!

Metecrologists group tropical
eyciones into three main
according 1o the

(A} hourly rate of pre:inil:a ﬂ

(B) barometric pressure.in the eye of
the storm

diameter of the storm
strongest sustained surface winds
in the storm

(G
(D)

The co-ordinating unit of an All India
Coordinated Ressarch Project on
“Management of Salt Affected Soils
and Use of Saiine Waler in
Agriculture” is also located at

(A} Bharuch (B) Lucknow
(C) Karnal {D) Chandigarh

)00 T 0 O 0
152. For example, if one is travellers
through the State of Tamil Nadu, one
may observe that the ploughed hields
in the districts of Salem and Pariyar
are _while thosa in Coimbatore
and Ramanathapuram are
(A) grey, brown  (B) black, red

(C) red, black (D) gray, red

Fuel reforming is a process of
(A) Transforming fossil fuel into CO
(B} Transtorming fossil fuel mta R,

(C}) Removing carbon compoun
from fossi fuel

Nona of the above

153.

)
Energy derived from hol spois
beneath the earth is called
(A) Bio enargy
(B} Geothermal energy
€] Muclearenamgy
(@) | Hydragenenangy
Which type of atmospheric waves are
it streams positioned wilpial?. -

alvin waves p—

154,

Kinemalic waves

(D)

Which out of the following metalic
minerals iz oblained from veing and
lodes 7

(A)  Zinc
(C) Rulile

In which kind of rocks are the mi
deposited and accumulated in 1
strata's 7

(A} lgneous rocks

(B) Metamorphic rocks

156,

(B) Limestone
(D) Mica

157.

(C) Sedimentary rocks
(D) None of these
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158.

158,

160.

161

162

Nagarcoil and Jaisalmer are
well-known for the effective use of

(A) tidal energy

(B) geothermal enargy
(C) wind energy

(D) biogas

Wind actions create "Mushroom
rocks™ which are usually found in 7

(A) Hills

(B) Daeaserts

(C) Tropical coastal areas
(D) Plateaus

The rapid sliding of large masses of
bed rocks is called 7

(A} Land slide

(B) Earhguake

(C) ANeathering

(D) Nane of the above

When a couniry establishes trade

restrictians, domestic producers of

goods that compete with

goods

(A) alwayslose in the s

(B} always gain in the long run

(C) may lose in the long run if
protection stifles innovation and
ieaves the indusiry vulnerable

(D) may gain in the short run because
wages will fall in thal industry

Which among the following body
linalizes the market-borrowing

programmers of State Governments
in India 7

(A} Stale Governments

(B} RBI

(C) Union Ministry of Finance
(0} Planning Commission

00 00

163. Which one of the following is not

164

included in a nation's current account 7
(A} Merchandise exports

{B) Long-term capilal flow

(C) Invisible imports

(D) The imporing of services

A barchart is

(A) Used for displaying wisug
summaries of the distributions @
the same variable in differe
groups.

(BY Used for depicting the distributiof
of & continuous variable

differant groups.

(G} The same as & histogram i
different. groups.

(L) Uséd lar cemparing thi

distributions ol differant variabis
in differant groups. «% -

. hart is an aliemative to a

(A} Bar graph providing a display
the frequancy distribution of
categorical variable

(B) Bar graph providing & display
the frequency destnbution of a 5c3
or continuous variable

(C) Line graph providing a display
the frequency distribution of a sc
of continuous varnable

(D} Boxplot providing a display of ff
frequency distribution of a scalel
continuous variable
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166.

167,

168.

169.

170.

1Fa

Given below the four sets ol
observations. Which set has the
minimum variation 7

(A) 46,48, 50, 52, 54
(B) 30,40, 50, 60, 70
(C) 40,50, 60,70, 80
(D) 48, 49, 50, 51, 52

If the obsaervations of a variable X are,

- &, — 20, - 30, - 44 and — 36, then

the value of the range will be

(A) —4B (B} 40

(C) =40 (D) 48
~___¢an be calculated from a

fraqﬁEncy distribution with open and
intervals.

(A) Median
(B) Mean
(C) Mode
(D} /None of the above

Phenomenon of wearing down of
reliel variations of the surface of the

garth through anosion is knQwn as
(A) Gradation

(B) Geothermic

(C) Endogenic

(D) Diastrophism

Partial melting and the production of
magma lakes place al :

(A) Divergant plale boundanes

{B) ocean-ocean convergeni plate
boundaries

(C) ocean-continent plate boundaries

(D) Al of the above

At what type of plate boundary do
shallow-focus earthquakes ocour 7

(A) Convergent  (B) Divergent
(C) Transtorm (D) All of these

172

¥ra.

174.

) ¥,

176

Which of the following are nol
associated with convergent plate
margins 7

(A} deep-focus earthguakes

(B} rift valleys

(C) island arcs

(D) deep-seatrenches

Deserls with a pebble surface are
called

(A) draas
(G} Regs

(B} Barchans
(DY Ergs

Geologic processas powerad by t
wind are called

procosses.
(A) Barchans (B} Coriolis
(G) Eolian (B} Yardang

Which ol ihe following is/are dired
source{s) of information about 1
imerior of the earth 7 et

arthquake wave ret?
olcano
i, Gravitational force

iv. Earth magnetiam

Salect the correct answer using t
code given below.

(A) | and ii only
(C) il and v only

Which one of the fellowing 15
example of subsistence farming 7

{A) Shifting cultivation

(B) Commercial farming ©

(C) Extensive and intensive far
(D)

(B) i only
(©) 1, i, fia

Organic farming
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177

178. Consider the following stalements:

Q: Density of population is number of
parsons divided by lotal square
kilometres of area

R: The density of population in India
is 334 as per 2081 census.

(A} Both Q and B are true and R is
correct explanation of Q

(B) Both Q and R are true and R is 1
not the reason of Q

(C} Qistrue but A is false

(D) Qs iatse but H is true

1. In Indla, the dryland farming is
largely confined 1o the regions
having annual rainfall less than
75em,

2. Dryland farming regions, gibw. fice
and drought resistant crops such as
ragi, bajra, moong, gram and'guar

measures of
conservation and
harvesting

3. In wetland farming, the rainfall is in
excess of soll moisture requirement
of plants during rainy season.

4. Wetland farming areas grow vanous
walar inlensive crops such as rce,
jute and sugarcane and practice
agquaculture In the fresh waler
hodies.

Which of the above statements are

comectly stated 7
(A} 1,2, 43
(C) 2,344

(B)
{0}

1,3, &4
1,2,38&4

1752,  Which one of thess statements basl

80.

181.

182,

dascribes a theoratical situation
whare the number of resources malch
the population of an-area 7

(A) Owverpopulation
(B) Optimum populatian
(C} Under population

(D) Dense population

Which of the following statemants s
correct for the first stage of the
demographic transition modal ?
(A) Birth rate high, death rate high
fluctuating, total population
and constant

Birth rate high, death rate
total population increasing
Birth rate low, death rate high, |
population low and constant
Birth rate low, death rate low,
population low

According to the supply side of
vicious circle theory of Eiagﬁlnpm
a country is poor b

technology levels Eh:: not allow

(B)

(C)

()

self-sufficiency.
(B) it was previously oo poor to
and inves!.
(C) underamployment is l0Q
widespread.
(D) resource allocation 1S poor.
During the 1880s and 1990s, a peri
of economic conservative govem
nmuch of the Westand Japan, a

approach among developm
economisis was

(A) neoclassicism
(B) Marmxism

(C] Rostow's model
(D} the classical approach
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183.

184.

IE.EI

t86.

Karl Marx's historical materialism
views ware shaped by all of the
following EXCEPT

(A) the French Revolution

(B) the rise of industrial and capitalist
production «*

(C) political and labour revolts
(D) a growing spiritual rationalism

The Human Developmen! Index

(HDY) summarnizes a great deal of

social performance In a single

composite index, combining

(A) disparity reduction rate, human
resource devetopment rate and the
composite index

(B} longevity, education and living
standard.

(C) minimum schooling, adult literacy
and tertiary educafional
attainmeant.

(D) human resource training,

development and B & D.

infant mortality
(A) Is dafined as the a r
ol dealhs of Infant u
per 1,000 live births,
(B} reflects the avaitability of pnmary
education, the rights of
employment and social securify.
15 life expeclancy up 1o age 3.
reflects tha availability of hospitals

and childcarg facilities, and the
parents’ wealth,

(C)
(D)

imitating fabour standards from nch
countries in LDCs may Increase

(A) equality
(B) poverty
(C) amploymeant

(0}  human developmant

0500 0 0O O

187. The National Population Policy of
India has sel the following goals
except
{A) To bring down Total Fartility Hal

(TFR) to replacement lavels B

2015

To reduce the Infant Mortality Hal

1o 30 per 1000 live births

To reduce the Matemal Mortalif

Rate to 100 per 100000 live birl

100 percant registration of birth

deaths, marriages and

pregnancies

(B)
(C)
Q)

188. What Is international migralion ?

(A) Movemant of people within 1
country

(B) Mowvement of paople from ¢
village to another

(C) Movement of people betwesl

amang countries

Mavement ol people from urbani
Urbaransas

()

189. Which one of the following places in
India the first bird-sancluagy-was sel
e

? E -
Vedanthangal |
Kudremukha

(C) Bannerghata
(0) Keoladeo

180. Which of the following was a part of

Lauratia 7

(A) Anatolian Plate
(B Chinese Plate
{C) lranian Plate
(D) Agean Plate

191, |f a tide occurs at a place at 68 p.m

when will be the next tide oceur 7

(A) 00.13a.m. of the next day
(B) 086.26 a.m. of the next dﬂy
(C) 12.39 p.m. of the next day
(D) 06.52 p.m. of the next day
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182

183

194

199,

Which of the following is a plausibie
argument that buming fossil fuels may
not lead to severe global warming 7

(A} conversion from oil to altemative
energy may quickly reduce CQO,

in the atmosphare

(B} average global lemperature
during the last 100 years actually
has declined by 0.5"C

(C] metling glaciers may increase
the Earth’'s albedo

(D) wvaricus negative feedbacks may

reduce the affacts

Whao, amongstthe following, defined
Geography as a charological science ?
(A) (B} Richthafen
(C) Heatiner (D). P.E.James

Ptolamy

Wha, amongs! the lollowing, @d
propounded the concept of Time
Space Geography 7
(A} Hagerstrand
(C} Johnsion

(B) Haggett
(D) Harvay

Chemical weathering 18 more
effective than mechanical weathenng
in

(A) Semi arid region

(B) Arid region

{C) Coastal region

(0] Cool temperate region

dd

| OSD 0 O M  0 D 0

186. All those processes which tend fo

bring the surface of the lithosphere fo
a common level are collectively

known as

(A) Gradation

(B) Degradation
(C) Aggradation
{0} Mass wasting

197. Which of the following would kkely to
have tha lowest albado 7

(A)  Mirror

(B} Frash snow in the Arctic
(C) Muoist ploughed soil

(D) Thick cloud

198. When sun is shining vartically over
tropic of Capncormn 7

(A} Daysand nights are equal cver ths
enlife mobe

iignis are longer than days In the
Southem hemisphara

Nights are agual to 24 hq-:_.r'r'u"u'#er
chic region
afd nights are o 12 hour

uration ovar Antarctica

199, The average temperature of the
surface water of the oceans is

(A) 22 degrea Celsius
(B} 15 degree Celsius
(C) 26.7 degree Celsius
(DY 18,6 degree Celsius

200. All the ecosystems laken togather in
a geographical area form a bigger unit

called 2
(A} Community (B) Termtory
(C) Biome (D Biosphere
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I) Essay (In English)

I.  Write an essay on-any one of ihe fopics given balow 30 Marks
g a) Democracy is the best form of government.
OR .
by The status of women in the world today.
OR
c) Romance is the privilege of the rich.

-2
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i) Letter writting /| Expansion of ldeas (In English)
Il Answer any one of the following : 20 Marks
a) Anger is temporary madness - Expand.
: OR

; b) Write a letier to yourbid school teacher whose address you have accidentally
come across. Tell him who you are and what you are doing.

OR

™

¢) “Face is the index of mind” - Expand.
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INSTRUCTIONS TO CANDIDATES

Time Allowed :
Descriptive type Examination  © 1 hour
Todal 1 hour

e

Piease check all the pages of the
Question-Cum Answer Booklet with
OMR facing sheetl. In case of any defect,
please ask the Invigilator for replacement
of the Booklet. In case of any discrepancy
batween the English and Hindi versions
of any Question, the English version will
be treatad as final'authantic.

You must not tear off or remove any sheat
from this Booklet. This Booklet musi be
handed over to the Imvigilator bafore you
leave the Examination Hall.

This Booklet/eonsists of Descriptive
Examination — 2 questions of 50 marks.
Limit your answer 1o the space provided
in this Botklet. No addiional sheel will be
provicad.

Answer the Questions as carefully a5
can. Some Questions maybe difficult a
othars easy. Do not spend much time on
any Question.

Use of Calculator/Palmtop/Laptop/Other
Digital Instrument/Mobile/Cell Phone/
Fager is NOT allowsd.

Candidates found guilty of misconduct/
using uniair means in the Examination
Hall will be liable for appropriate penal’
l=gal action.

You should not write your roll number,
name or address in the space provided
for writing answer. in case of letter writing
name and address should be writen as

“abo”, “wyzr" ato.
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